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Section 1 - Ecosystems

Fill in these sentences:

An ecosystem is a unit that includes all of the living ( ) and non living ( ) parts.

A producer is an organism that uses sunlight and energy to produce food, an example of a producer
would be , they are found at the of a food web or food chain. A consumer is
an organism that gets its energy from eating other organismes, it eats or other

consumers, depending on how many consumers there are, they are called ,

, . An example of a primary consumer would be

, an example of a secondary consumer would be LA

decomposer is an organism that gets its energy from dead producers

or consumers or , bacteria and fungi. Decomposers are important in

cycling within an ecosystem.




Below are different ways the humans can impact on the ecosystem, categorize them into human or

physical (natural).

Some species increase in population, while others decrease, or even disappear
altogether. These shifts can be due to new species entering the ecosystem,
current species impacting the ecosystem, or evolutionary changes within a
certain species allowing them to better adapt to the ecosystem

Pollution

Over-hunting key predators such as lions, tigers and bears, they remove the
very animals that keep plant consumers in balance and prevent overgrazing.

Cutting down trees (deforestation)

Droughts and wildfires

Storms, including severe thunderstorms, floods, tropical storms, and tornadoes,
can greatly impact ecosystems by their sheer destructive force.

Building on the land and removing soil nutrients, surface vegetation and trees
that filter the air and equalize the carbon cycle. Urbanization also displaces
animals and increases environmental pollution from vehicles and factories.
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Different parts of the world have different biomes. Below is a biome map of the world.

Using a world map or your knowledge of continents, and directions (N/E/S/W):
List 3 areas that have deserts:

List 3 areas that have temperate forest:

List 3 areas that have tropical rainforest:

Over the next 3 pages there will be information on the characteristics (soil, climate,
vegetation structure). On the 4" page you will need to answer the multiple choice
guestions using that information.
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What are tropical rainforests like?2
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What are hot deserts like?
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Circle the correct answer from the options based on your reading of the
previous 3 pages:

1. The soll in deciduous forests is fertile because of the thick layer of leaf
fall/litter which adds nutrients to the soil TRUE/FALSE

2. There is a lot of plant growth in the desert as the soil is very fertile
TRUE/FALSE

3. The rainforest has no defined seasons and is hot and wet all year
round

TRUE/FALSE

4. The tallest frees in the rainforest are called... SHRUB LAYER/TOP LAYER/
EMERGENTS

5. The soil in deserts is usually FERTILE/UNFERTILE

6. An example of a place that has a deciduous forest biome is
AUSTRALIA/UK/CENTRAL AMERICA

7. Deciduous forests have 4/3/NO distinct seasons

8. Temperatures in the desert are EXTREMLY HOT ALL THE TIME/
EXTEMRELY COLD ALL THE TIME/ EXTREMEMLY VARIED.

9. Temperatures in the tropical rainforest are EXTREMLY HOT ALL THE
TIME/ EXTEMRELY COLD ALL THE TIME/ EXTREMEMLY VARIED.

10. Very little light reaches the CANOPY/EMERGENTS/SHRUB LAYER in

the rainforest

11. In the rainforest the soil isn’'t very fertile because THERE ISNT
MUCH LEAF LITTER/ THE NUTERIENTS ARE WASHED AWAY/ ITIS TO COLD



Complete the table below: Tropical Rainforest Adaptations:

Adaptation Animal or How does it help them survive?
Plante
large, fan-shaped leaves
Camuflague
Rapid cycling of
nutirents

Brightly coloured

plant the catch a lot so they can photosythnesise

Attaching themselves to
another plant

poisionous

Using another tall plant to climb up and reach
the sunlight

Strong beaks

Hot Desert t Adaptations:

Adaptation Animal or How does it help them survive?
Plante
Drought tolerance/fire plant
tolerance
Getting water from
food
animal Staying out of the midday sun means they do

not overheat or dehydrate

Not sweating as much means that they conserve
water

Storing water in their
tissues

Pioneer species




Section 2 — Tropical Rainforests:

Match up the causes of

deforestation to the pictures below:

Farming — forest is cleared to set
up small subsistence farms for
locals or for big commercial
farms or cattle ranches.

Commercial logging — trees are
felled to make money

Population pressure — as the
population increases, land is
cleared to make way for new
houses

Road building — new settlements
and industry in the rainforest
needs roads to be built.

Mineral extraction — mining and
sold to make money



https://www.google.co.uk/url?q=https://desertification.wordpress.com/2015/02/12/desertification-in-zimbabwe-tobacco-logging-and-charcoal/&sa=U&ved=0ahUKEwiFyYKB7oXUAhVoDMAKHcVLAdYQwW4IGDAB&usg=AFQjCNF76du4-7MWkBKIbjfV5DpUsY1FKg
https://www.google.co.uk/url?q=http://rain-forest-depletion.wikispaces.com/purposes%2Bof%2Bdeforestation&sa=U&ved=0ahUKEwjRrcXU7oXUAhWBB8AKHf_ADw0QwW4IGDAB&usg=AFQjCNFGcXRJ89ovuDxipxWSJ6jGpWB4ig
http://www.bing.com/images/search?view=detailV2&ccid=SlhPT8BJ&id=197BC98FD638B99143C9889F60EA2ADF01D60B84&thid=OIP.SlhPT8BJT_yRX_sZB_r7-wEsDH&q=population+pressure&simid=608030326786295836&selectedIndex=0&adlt=strict

Causes of Deforestation in the Brazilian Amazon, 2000-2005

source: mongabay.com
Cattle ranching, 65-70%

\-

Small-scale

agriculture, 20-25% Logging’,

2-3%

-

Other’, Large-scale
1-2% agriculture,
5-10%

Share of deforested land ultimately converted for extensive agriculture3
1980 e 80%
1990s I 60%

What is the biggest cause of deforestation in the Brazilian Amazon?

What is the smallest cause of deforestation other than ‘other’?

Describe and Explain one cause of deforestation in the Amazon (3)




Deforestation has positive and negative social, economic, environmental and political

impacts. For the table below state if it is positive or negative,

social/economic/environmental or political.

Impact

Positive /
Negative

social/economic/environmental
or political

Logging, farming and mining create jobs

Fewer habitats or food for animals, this
reduces biodiversity

The livelihoods of some local people are
destroyed because of the loss of
animals and plants they make a living
from

Soil erosion because the rain washes
away the soil because the trees are
there anymore to protect it

Soil is washed into rivers and can kill
fish

Some native tribes have been forced to
move and this can lead to
homelessness, drug and mental health
issues

A lot of money is made from selling
timber, mining and commercial farming

There can be conflict between native
people, landowners, mining companies
and logging companies over the land

There is pressure from governments to
stop deforestation




Without trees to have leaf litter from,
the soil becomes less fertile because it
has less nutrients

No trees means more Co2 not absorbed
which means more global warming

Local people get more jobs and their
quality of life is better

Less interception from the tree canopy
means more flooding risk

Which are their more of, social, economic, environmental or political impacts?

What do you think is the worst impact? Why?




In your exam you will get a 9 marker, these will often be ‘to what extent’ — you need to

show 2 sides to your argument — agree and disagree, positives and negatives, it also
needs geographical terminology throughout and a conclusion at the end. On the next

page will be a ‘to what extent question’ Plan your answer in the box and write your

answer to the question below.

‘To what extent do the benefits of deforestation outweigh the problems’

‘To what extent” = how far do you agree with this statement?

‘The benefits of deforestation outweigh the problems’ = there are more good things about
deforestation than bad things/problems (see your table on the previous page)

Plan your essay here:

Intro — what is deforestation?

Benefits: Problems:

Conclusion: (what side of the argument do | agree with?

‘To what extent do the benefits of deforestation outweigh the problems?

Write your answer here:







Rainforests are very valuable to people: label the pictures with the reasons as to why

rainforests are valuable:



https://www.google.co.uk/url?q=http://www.madamasr.com/en/2017/01/13/news/u/health-ministry-increases-price-of-over-3000-medicines/&sa=U&ved=0ahUKEwjxsazR74XUAhVJDMAKHQWiBJAQwW4IGjAC&usg=AFQjCNEzxIujYUOV01vXbz10UA896-dVpw
https://www.google.co.uk/url?q=http://peopleoftherainforesthp2014.weebly.com/living-in-the-rainforest.html&sa=U&ved=0ahUKEwjbxOf574XUAhVEJsAKHZq_DSwQwW4IFjAA&usg=AFQjCNFRxhDNc0Rzg333Lvqz6k3tf5LIXg
https://www.google.co.uk/url?q=https://www.tripadvisor.com/LocationPhotoDirectLink-g147324-d1448148-i40473252-The_El_Yunque_Rain_Forest-El_Yunque_National_Forest_Puerto_Rico.html&sa=U&ved=0ahUKEwiN0IWN8IXUAhUpBsAKHXiKB2EQwW4IGDAB&usg=AFQjCNEZpXfxpG-nZPw1OSJg4jOLSTZPqw
https://www.google.co.uk/url?q=http://amazonrainforestfirstperiod.weebly.com/biodiversity.html&sa=U&ved=0ahUKEwjP46vs74XUAhWmAsAKHaxUAnEQwW4IGDAB&usg=AFQjCNFlkaWnKlL7Sk1YClrueg8Kiy6qPQ
https://www.google.co.uk/url?q=https://earthobservatory.nasa.gov/Features/Deforestation/&sa=U&ved=0ahUKEwily7u18IXUAhWoDMAKHbStC2AQwW4IIDAF&usg=AFQjCNHs04t1ir2hggC3uqIua8rPVx9zmA

How can we sustainably manage the rainforest? Match the terminology to the

definition

Agro-forestry

trees are only felled when they reach
a particular height. This allows young
trees a guaranteed life span and the
forest will regain full maturity after
around 30-50 years.

Selective logging

Ensuring those involved in
exploitation and management of the
forest understand the consequences
behind their actions.

Forest
reserves

growing trees and crops at the same
time. This lets farmers take
advantage of shelter from the canopy
of trees. It prevents soil erosion and
the crops benefit from the nutrients
from the dead organic matter.

Afforestation

Areas protected from exploitation —
national forests

Education

the opposite of deforestation. If trees
are cut down, they are replaced to
maintain the canopy.

Monitoring

use of satellite technology and drone
photography to check that any
activities taking place are legal and
follow guidelines for sustainability.




For each definition of the ways you can manage the rainforest sustainably highlight in
one colour how it is done, and another colour how it doesn’t damage the environment

(the sustainable part)

Which do you think is going to be the most successful method of management? Rank
them 1-6 with 1 being the best, and 6 being the least.

U T o

Debt reduction is also a way to manage the rainforest sustainably. What is debt

reduction and is it successful? (3)

In the Amazon rainforest — your case study for tropical rainforest, the main management strategies for

sustainable management include:

e Replanting (afforestation) — Peru wants to plan 100,000 km2 of new forest by 2018
e Banning a certain type of tree being cut down

e Ecotourism is very popular in Peru

e Increase in environmental laws

e Reducing debt —the USA and Peru have an agreement

e Increasing protected areas — Brazil has lots of National Parks



AMAZON RAINFOREST

Untouched forest

VENEZUELA Deforestation up
GUYANA to 1997
B Deforestation
SURINAME from 1998-2006
COLOMBIA
N\ FRENCH GUIANA
. 9 )’ ‘
ECUADOR A /\I 52
.
i~ -

BRAZIL

SOURCE: WWF

Above is a map of the deforestation in the Amazon Rainforest, describe the

distribution of the deforestation in the Amazon (3)

Help: Use directions — N/E/S/W and country names to describe where deforestation

happened up to 1997, then do the same for deforestation from 1998-2006, lastly, name

the places with untouched forest.




Section 3 — Hot Deserts

—aall ARCTIC DESERT

NORTH
AMERICA
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e ] g TAHAMI g.’
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PATAGONIAN SIESON
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ANTARCTIC DESERT

ANTARCTICA

Above is a map of the desert distribution — we study hot deserts. Describe the
distribution of hot deserts — use continent names, directions N/E/S/W, the equator and
tropic of cancer and Capricorn in your answer (3)
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How have people adapted to the climate and accessibility? For each strategy below, say

if it is an adaptation to accessibility, heat/extreme sun or dry conditions.

increased railways

Flat roofs to collect rainwater

White walls to reflect sunlight

Better roads built

Major cities can now be reached by plane

Wearing cowboy hats

Replacing real grass with fake grass

Drought resistant crops for gardens

For a hot desert environment you have studied, to what extent do the challenges limit the amount of

development in that environment? [9 + 3SPaG]

What's your conclusion going to say? — are the challenges or opportunities greater?

Point -Challenge

How is it a challenge to people?

How important/significant is this? How
have they adapted to this?




Desertification is the process by which land becomes drier and degraded, there are
many causes of desertification. - Colour code the causes below into ‘climate change
factors’ ‘population factors’ and ‘pressure on resources’

Repeated drought bringing less Overgrazing by cattle
and less reliable rainfall
Over cultivation
Soil erosion
More wood used for fuel and
Increasing population shelter
Global warming and rising Refugees arriving from conflict
temperatures zones
Extreme poverty Overuse of aquifers

Now that you have sorted them into different categories, we need to know more detail
as to how humans cause the process of desertification. Fill in the gaps below:

Over cultivation of the land can soils fertility, both
and commercial farming are the problem, more people means more food is needed and

more crops are planted, draining the and drying the land. Over

grazing is when too many farm animals all the until it

is unable to regrow. When there is no vegetation, the cannot hold the soil
together anymore.

Both of these result in the exposed
becomes hard by the sun, when the finally arrives, it washes away the soil
and wears down the land. Vegetation cannot grow here again.




Talking Desertification:

Draw a picture for each of these strategies:

Gaps (small rock dams) Roof rainwater collection

Bunds (low stone walls) Planting grass

Planting trees Efficient stoves




Increasing solar power

crop rotation by farmers to allow soil to recover

What strategies help with water management?

What strategies help with soil management?

What strategies are Appropriate Technology?

What strategies help with vegetation management?

Colour code each strategy —is it Local, National or International?




‘To what extent is desertification most successfully managed by international efforts?’ (9 marks + 3
SPAG)

Plan:

What does the question mean? Do you agree that the best way to reduce desertification is by international
strategies?

Point 1: Yes...these are the international strategies that work well... - use examples

Point 2 — | disagree, however you can manage desertification with local strategies.....

Point 3 —you can also manage desertification with national strategies

Remember you always need a conclusion!







